
Distributed Systems
Exercise 5
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a) p1 wants to publish a value and no failures occur.
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b) p1 uses and optimized version , where it only communicates with 

a quorum, again without failures!
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c) Another iteration of b. optimized by using Multi-Paxos
(System is already in a steady state).
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c) Another iteration of b. optimized by using Multi-Paxos
(System is already in a steady state).

prepare(x)

promise(x,{V2,V3})
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S1: R3X R2Y W2Y R1Y W1Y R2X W2X R1X W1X W3Z.
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S2: R3X R2Y W2Y R1Y W1Y R2X W2X R1X W1X W3Y
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S3: R1Y W1Y R2Y W2Y R2X W2X R3Z W3X R1X W1X.
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T1 : RA WA

T2 : RA WA

T3 : RA WA

a) What is the number of serial schedules?

b) Which schedules exists that are serializable, but not serial?



T1 : RA WC
T2 : RB WA
T3 : RC WD

a) How many schedules exist that are not serializable?

b) Does using 2PL permit all serializable schedules?

S = R1A R2B W2A R3C W3D W1C


